solution for the assigned function(s)
2519. 8 and g(x) =-2x2+5x -7

3.2[f2)-g(1)] 2[2-7]: ¥
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L Section #2: Find the solution(s) te the following system.
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y=-x -2x+4
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y=|x-3| \
8 2 27 Selutienss «m 3) 3.

Please study your NOTES and Quizzes from this
Unit before tomorrow’s test!!
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from the Stone Creek Movie Theater. If “y” represents the cost of an adult ticket to get into
the movie and “x” represents the cost of a child ticket to get into a movie then what is the

cost of each adult ticket? Use any method! ©

n #4s Solve the systems of linear equations through graphing,
jon, or elimination. Use methed indicted if pessible.

18, The equations 8x+4y =28 and -9x+9y =36 represents the amount of money collected

METHOD 1: GRAPHING
4y=-8 > = - = = "3 o

‘.x+ y <\ . 2 15, 3x+2y=6 4 w\U \:\w
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METHOD 2 Elimination
Ax—5y=17 =
d.aw ‘<.\. 9. 5x-2y=10
x+4y =35 . 3x+2y=6
T &x<=1lé
=2 (20)
2y—4x=-6 Y
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22. ﬂwﬂq A s~ M= -med
X2 mn\duﬂ “Em+9(-m+H)= o
3x=9 (3, ) .mna D..MJ m=6
X=3 ~Mm= Y \lﬁ TWJ

Section #5: Evaluate each plece-wise function for its given demain.
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26. Looking at #24 finds mnm).v w@wuw 7 ASV

$ection #6: For each o._aﬂ-o.. state the domain n.:_ range A...m-.u
interval notation) then find the inverse and state the demain and
range of the inverse. Also, determine if the Inverse is a function.

276 f(x)=5x-17
Domain: ﬂl\b QO,V wmsmmml\o Qy

=Sy - X
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£1(x) =
Domain of f1(x): Nu QO\QOJ
Range of f*(x): m —or ,00

28¢ f(x)=-5x-11
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Domain of f(x): { ~ ion\»o,m
Range of f1(x): ( ~ 7=, )

29 f(x)=3x"-1 30, f(x)=Vx-4

UoBm_:N QQRLQM mm:mm~ mw Domain: h* %v Range: ﬁ@
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Domain of f1(x): h Lm d Domain of f(x): _“Q ‘ QOM

Range of f*(x): Range of Eg

Section #7 Abselute Value Equations & Functions

81, Solve each of the following. 32, Graph the following equation. Then

iy =Y LY Lt
a |x-1|<4 =3 w\ M describe the translate of g(x) = Ix] to f(x).
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33. Determine whether each of the following is a function. Justify your
answer. Find -.. Uoln... and Range of each. s pases LT
a f(x)= ,\| b.

fix)=-x*+2x-2
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34. Youwork *onc :o:: a Eamr ata m.._d_n:_.o store. You receive a nﬂo weekly salary, plus
a 3% commission on sales over $5000. Assume that you sell enough this week to get the
commission. Given the functions f (x) = 0,03x and g(x) = x — 5000, which of (f 0 g)(x) and (g o
f)(x) represents your commission? Ako, how much will your salary be if your sales were
$14,000? How much will your salary be if your sales were $4999?



